ER-IERRREE-RR

68 A8 AT
HEXEE DBMASRE

FFR P 2R X =R
=150 — R X HEPFEER
TETHEEFLOLME | =X
X7 (BKE) REMEEHEE |25
(EMKE) |LtEREENREE [132(HEEE)
INEIRE=17.6, Mz )iRig=22.4, —V#)IIR1%=62.6,
e mew wye | DURITRE=215, EIGEE=8.7, K&)ITE=12.3,
RISFRIEMERE oo i) Fatt=11.6, AT | Faisi=22.5, 38 )11 (2 ) ash=s,
o AN 78563
iy
. ARENFE=(10, 32.9), Kig/lFkiE=(12, 68.9),
wage MEJIFRE=(12, 7.8)
] fﬁf?g!g*ﬁﬁ KN FFE (- mm], AL [RE], ERIKRARN (A58
i 5 fE £ 20m/s
A FRRRE fi: 25m/s
= - > fE 20m/s EEHES
RS FERE B 25m/s EEES
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥é100m
= RROFS D 128 R E O Fx200m
KR E ) 6.0m
= 80 B 2.0m
X7 REMEEHEE |15
THEREREHEE |B4(HEREE)
INENFE=14, B2 R)75kE=138, —Vi#)IFig=50, F&)Hg5=17.2,
R mEfENEE (MA)IRE=6.9, X&)I5RE=9.8, FHAIFFIFE=9.2, MTHA)IIFE=18,
K#)I(EE)FiE=4.8, /)l Fit=4.9
. INENFRIE=(7, 14), 2% )5RE=(7, 138), —V#E)IljiE=(9, 435),
#K o R FE=(7, 15.8), AEJIIFE=(6, 296), Kz)IIFEsE=(11, 62),
CE 2 ERIFE=(12, 18.1), TEJIFSE=(7, 6.9),
MTENIFE=(13, 16.4), INMRJIIFREI=(7, 4.9)
BETNEATR | m T (B - ], AR D), ARIKRAR) ]
T 4 B fE L 12m/s
B FHRE B 15m/s
= T b ) fEE 12m/s FBEHES
RS FERE B 15m/s BEMES
FE = = 7= Tih 1205 PR E DR E3cm
IRE KB REQRS T 12B5 B B ) E50m
KR HFE2ES 2.5m
=i BT 1.6m
= ESEFICLYBELNTEINSEE
S
s = a Bt 100m
= e L 500m
7] B/INEE40% T, ERITRE65%
BEDFES100cmLl LT, XOLF L
P 1 SURSCHLEDER
/= 2 BREFICKDER
3 BEDFEE0cmLlE
BB B FEIYTHTEIICLULEENEMNIAKIV =R, SHIC2BU LG EFEEINSES
i K THHTRESE-SCUT WANWTRIERIE-SCUT
= 11B20BFTHEFE. 3A20B LIEDIGFE RIEKIE4ACLUT
BEK-EE AREEHR- TEHOEH T T, [E-2°C~2°C, IBEI0%LLE
EOERRO TR IR KSR 1RERE 120mm

NEREREEY KRS OHEASHhEICLSREEERLTILET.
46458 H 8 H 1684353 EHD H MM D HEIZ L, ARERIERO T ERSIERE LI OV T, BEELEDSH DG TR EFFHALTLVES,



